AR—VEZEH BEETIO<S<XMUTR)-IEBETEE (HERFRN-BERFENELLEVGE) >

14E 4 (20278)

2484 (20269)

3E 4 (20259)

A% 4 (2024S)

B

®H

B

B

®H

B

B

®H

B

B ®H

B

ik S

BAEEX

2 B (EHE- 9k Pk

EFERRL

EFERR I

2 | &kHERE

EE I (ZEHE- 004k thiR)

2 |EHRAED

BRI 1

4B EEFAM

2 | ABIDEDERE

HEOLLAHEF VTR

TSR

AR 4TS BRIREE

REFAM

BELLTORFSE

HOEE

Wi

RR—ViEHF

2 [RR—YRH

RR—YFES

ZHEDTAIRT—DELEH)

g1

1 |BRHES I

BURIL—TAVRA

BURIL—TAVB

fee b e 1

1 Kk I

ZAR—YILEE

NRybR—)L T

1 |\Lb—R—)L 1

2 (RIR—YEEE

RERR R

2 |RERER

FES) I

TRMFEE

R

R RE

AR—VIEEE R

2 | RR—YBKRSR

Hyh—1

NL—R—L T

AR—YRRI AR

BEERA—VH

2 |[IEEY—EXH

Huh—1

MBLEER

RIR—ViEF

AR AREES

RR—YH

HEERAR—YBR

HHNHER

I 2 T %

%

=
>

W

AR—Ya—FU

ZAR—=yarFa4a=U T

RR—VEEHTR
A —YEET -2 EET)

AR—VHERAE

RAR— VAT
AR —yEA - EELD)

EHL—=2 T RE

i

AR—YaA—F Y EE 1
(FIEFHER N L= =)

ZAR—Ya—FU 7 EE I

EMAENL—=UT

BEERR—YI—FLTH

ZAR—Ya—FU 7 EE 1
FIEFRER - Hvh-)

AR =YavT1vazVy BB A
RN —ZV) DEES)

ZR—Ya—F 7 EE N

IR

£

X4

g
B

14ERTHA

1E&H

24 FIHA

2F%H

SERTH

3FH®H

ASEHTHY

AFRE

e
B

18

BE
FEiR

BRI
B

22

HPERE
EiR

36

]
B

=M
EiR

20

20

ZREEfT

a5t

124

124

21

22

20




AR—YREZEHR BEETIIQ <REHRBEHHEZEEISS (PEREHA—ER

K- SFFREEA —ERFRERGEIDEER) >

<HB>HERHFIWELGEE
144 (2027S) 24 5 (2026S) 344 (2025S) 455 (2024S)
X5
IR BT % BT GIE] BT % BT GIE] BT % By GIE] BT % BT
BAREEE <H> 2 |HED (EEE- R 2 EFERRI 2
EEEH I 2 |kttt 2
DA .
% KB (BB DR <H> 2 |EmLED 2
Z
E BERE 2
B ERLET <#H> 2
= £ £ AR 2 (AELEOER 2 |[BromE 2 |MemE 2 F—BS T AR 2 AR ERIR S 2
R - -
RKEFAM 2 |BBELLTOEFE 2
ZRK—VERE <H> 2 |ZRR—VER® <%H> 2 |RR—vHESR 2 |EKEOSAIRF—SLEH 2
KRBT <H> 1 |BmER T <%> 1 |FvRL—TAURA <H> 1 |#vRL—TAUB 1
DA N X
BEBEI <#> 1Kk <> 1 ZH—IDEE <H> 2
iz
NRTYRR—ILT <H> 1 [Sb—R—=L 1 <#H> 1
-I;?% R 2 |at—vams <m> 2
% RERZH 2 |RERER 2 |#FAREI 1 |HERE 2 |FRRRE <H> 2 |[RHRRE <H> 2 |RR—ViEEER 2 |ZRR—vitEE <%H> 2
E
%& Hyh—1 1 fE E SH T 1 REHHEFED <H> 2 |RBEEHFEL <#H> 2
7
B NL—AR—)L T 1 FERHEEED <H> 2 |REBEREEETL <#H> 2
J#% WL DRMES <H> 2 AR—YIHRTAVE <H> 2 |VIMR—L <#H> 1
BELEE <H> 2
AR—YE <H> 2
FHE <#H> 1
P, T e ZR—Y Bl iR Y
7 ZR—Ya—F T 2 |RR—=yarF ia=2 i 2 | GF—ys it Ead) 2 |RR—YREHEE 2
& RA— iR s
= (R -vL- ) E D) 2 Ak —= TR 2
fq ZR—YA—F LT EE 1 g . T s s .
# (R R - S 1h1R) 2 |RR—Ya—FUIEED 2 |RBR=YYNEYF—avik 2 |RR—VEBHHTE 2
iﬁ: ZH—Ya—F T EE 1 AR =YavT YAz EEC
2 2
& = IEBHFR - NV~ —1L) RE—JEF O DEE)
B
R RR—Ya—FL 5 EE L 2
ZEWR 6
B 2 |HBERSAEREREEZED) 2 |HBELEZ 2 |EfEEEEAGERIEEEET) 2 |HREBHRURENEEE ORBOEER 2 BWEREE (F-5) 2
%
ﬁ LRCPLLHMERRERIEAALR ) |lupumommes® 2 |gEE 2 |mEiRy 2
B
R IERE AP 2 BERT (BA-BRIEHEED) 5
25 | 25 | iy VR 1M 24 25 M SR S AR A
ﬁfg 18 18 10 6 0 2 0 0 0 0
%ﬁ 16 16 2 4 4 2 0 2 0 2
ﬁfﬁ\ﬂ%@ 22 22 7 7 3 5 0 0 0 0
gg%@ 36 36 3 2 5 2 13 7 2 2
f?;; 12 12 0 2 4 4 2 0 0 0
g}; 20 20 0 0 0 4 2 6 2 6
FREM |y 124 22 21 16 19 17 15 4 10
B 27 27 0 2 4 4 6 4 0 7
#wast 151 151 22 23 20 23 23 19 4 17




AR—YRER BEETILE <AKR—VEBEZEHETES (BRAR-—VHBEAREREIGTSHEHE) >

<B>BARAR—VHEOERICERTSHE

154 (2027S) 25 4 (2026S) 3 & (2025S) 45F 4 (2024S)
X5
GIE] Bif % B EUE] BifT % B EUE] Bif % B GIE] BifT % B
BAEEE 2 |EFEBI (ERE- 0k PR 2 EERRI 2
EFERR 1 2 | ktEEtSE 2
DA .
HEE T (BLEE- 8- P 2 |1E$RALIE I 2
£ Z
=
. BEEE 2
=
B 1ERALEE T 2
ii 8. AP AN 2 |HR‘|EFAM 2 |BRROMmE 2 aVEL—4REEE 2 | TANMEHEE 2 AFEI 4B L ERIR LS 2
*R An 2
BELLTORER 2 HMDEE 2
AR—ViEBFE 2 | ZRR—YRH <B> 2 |RR—YxHEEZ <A> 2 | ZKEDTAIRT—DLEE) 2
[Z3= 1 1 |BWER I 1 |[FURL—TAURA 1 |[FYRL—=TAUB 1
W .~ .
fE ERER 1 1Kk 1 1 ZR—UihEE <B> 2
Z
NRTYRR—IL 1 1 |N\L—R—)L 1 1
=)
M BRRERREIZ 2 |RR—yEEE <B> 2
=
Eﬁ RERRFR 2 |REFHER <B> 2 [KkkI <B> 1| RR=YNAFAH=HR <B> 2 |RR—YTHRIAVE <H> 2 |FEERE 2 |RR—VigEER 2 |RR—YEEH <B> 2
=
=]
£ NURR—)L T 1 |IRR7ybR—IL T 1 |RR—YEE <B> 2 (HBREZE <B> 2 BEEIR—VK 2 |RR—VHiteZE <B> 2
= ‘
. NURR—ILT 1 REY—EX®/ <B> 2
=
*R BER - NREESE 2 ZAR—YikE <A> 2
EERR—VIBHR <B> 2
FNLER 2
W A P Ty AR—YVE TR 0wy s
W ZR—ya—FoTHm <B> 2 [RR—YaALTFaLa=LTH 2 | R —ysir s R A ) 2 (RAR—YHPHET <B> 2
=1 Z ZAR— iR s
Fq (R —yHERHL -V EEE) 2= ET R <R 2
?é FL—= Y sER <B> 2 |ZR—ya—FU EEL <B> 2 |ZAE—YUNEYT—avik <B> 2
7 = ZR—YA—FLTHEE 1 ey - e
=] iR CBIEBERERKK) <H> 2 |FEYT-vyy—Y <B> 2 |[RR—ya—F 7 EED <B> 2
ZAR—YaA—F U EE |
HIEBEER A <H> 2 RIS E
25 | S5 | ey 1R 1 2L 2L SR ES Y RESH SESRY
iﬁg 18 18 10 6 0 2 0 0 0 0
gﬁ 16 16 2 2 4 0 2 4 0 2
g;;f%ﬁ% 22 22 7 7 3 5 0 0 0 0
g)’gﬁﬁ% 36 36 2 3 9 4 4 2 4 8
f?; 12 12 0 2 4 4 2 0 0 0
E:; 20 20 0 0 0 6 4 4 0 6
$ff¥ﬁ 124 124 21 20 20 21 12 10 4 16
/A




